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1 B A 342kt k8 86 A B
2 VR 31 0otttk ok 646 A 7R
3 i 21 Otttk 7 39 A 4
4 Ffi At = 31 Ok (0 3 3 A 7
5 SN 31 Oskskskkkskokokokkk9 23 A WA
6 KE 310%kkkskkkkkok k%922 A 7R
7 5K ] 21 Liskstteksieketotetoreok 4 2X A 7
8 g 31 Qsksdokstskoksokdok k779 A 7
9 J& B 31 Oskskskskskskskskkokokok G 2 | A R
10 2P 31 0kstsiskskskskoteokokiok 023 A W
11 2P ) A R
12 X435 340skksksksiokkkok 4 1 X A 7R
13 N 31 Oskskskskkskskskokokokek 5 1 3 A R
14 KPHF 31 Ok k 86 2 A 7
15 TLHE 31 Qskskkersiikokokok 625 A B
16 K 31 0skstsicstestesskskekeketok 61 6 A 4
17 |4 31 Qskskeeksiiiokokok§ 1 7 A B
18 R 310%skskkikiok k21 A 7R
19 2R A% 31 0kl 01 X N1 B

20 TR AR 310k kkkik k(18 N1 7R
21 FE&-F 51 0kskkskskkxkk k%674 N1 WA
22 X PR 37 Lsskkskkkskokokok 1 14 T 4
23 B 4] 2skstetetetetekekekeieorok 4 74 Gl R
24 fi; A8 B 310k kK %K2 36 Gl WA
25 [ AR 360%sksksdokskk Aok k(1 8 Gl W%
26 A& 31 0skstesicstesteseskestereteteok 01 3 Gl 4
27 XEEZE 390skkkkkeksiokokok 41 2 Gl B
28 LAl 31 Oskstsesketsioskoksieskekk 645 R1 5
29 R 2R 310k A6 32 R1 WA
30 FEE 31 Qskstsktotokok5 18 R1 W
31 £E 31 0sksteistototokkskeketok 425 Rl 7
32 WEE 31 0sksteicststesskesteretetek 025 Rl 4
33 P 522kt 8 15 R1 WA
34 W 31 Ossskskkkskokok 0 2X R1 7
35 ERS S 310k k%016 R1 WA
36 PN 37 Lekttoiotekatotokokk (01 7 AR1 A
37 AR 310%kkskskkkokkk 014 ARL 4




